
Assignment t 
Waves 

I. Consider the wave y = 4 cos (3z - 6t). Units are in meters and seconds. Find 
the [ollowing. 
a) Amplitude 
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c) Period 
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d) Wavelength 
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e) Direction 
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2. 	 Consider an organ pipe of length L. The pipe is closed at one eod and open at 
the o ther allowing a standing wave where a node exists at the closed end and a 
maximwn ex ists at the open end. 
a) What are the resonant wavelengths? 
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b) Sketch the resonant nodes corresponding to the 3 longest wavelengths. 

n ::.. 0 

-

• f) = I 

c) If L = 2 meters, what is the lowest frequency? 
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3 An orchestre \v1shcs to have a listener in front of the conductor hear notes at 
the same time, played by the vioHnist located next to the conductor and from a 
drummer located SO meters further back. 
a) Assuming that the dnmuner plays as soon as he sees the conductor give 

the command, how long should the viol1nlst wait before playing her note? 
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b) 	 Why may one assume that the two players see the cOndUC(Of command at 
the same time? • 
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